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SE0IUS HHAAE 2L 89,000 188,200 A99,200
Dd=tea =29 67,000 68,200 1,200
201 er2 3| 7,000 8,200 1,200
01 AtR2t2|HI 3,120 1,320 1,800
O 0|42 HYHE 29 A28 79
80,0002 %1021%90/100 720
O D1Mg =4 2 ozl
150,000& 42 600
O Dld=HierdlE 2l
150,000& * 12 1,800
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SN 23T
3 s Mlls2s SN
&t RES0IMS A 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 3,880 6,880 /3,000
O DId= HHefdE R
388,002+ 105 3,880
206 Mzl 60,000 60,000
01 b 60,000 60,000
O W8 SBOIMS FZSAN 2L
400,000 *1502L 60,000
2F ARG EE 0143 thea A= 22,000 0 22,000
401 Al HIZL S 0HYI 22,000 0 22,000
01 Al&HI 22,000 0 22,000
O AERdY 2atd ldE tiegd £H] 0l
22,000,000 * 100 2 22,000
FOIE O 0l A 499,770 478,120 21,650
TN (S HHYEZ0 499,770 478,120 21,650
307 gl2to| & 49,770 48,120 1,650
02 2B YAIHE A 49,770 48,120 1,650
O s KIZAS (FRIE 004 49,770
402 2I2FXH=201H 450,000 430,000 20,000
01 IR SASE X (XM THR) 450,000 430,000 20,000
O =SB ML} ALY (FRIE 004 450,000
BH2IBHIOI=Es) 39,123 40,404 1,281
Jl=23H 39,123 40,404 1,281
J1=23H] 39,123 40,404 1,281
201 fer= 3| 18,447 20,484 A2,037
01 AtR2te|HI 18,447 19,764 1,317
O A2l 20,496, 0002 *90/100 18,447
202 04| 15,876 15,120 756
01 =LHOLI 15,876 15,120 756
O =0 90,0003 =21 x12&70/100 15,876
203 HR=H] 4,800 4,800
04 RFAZSLRFEI 4,800 4,800
OJI=2slag gRF4|
400,000 12& 4,800
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